OFFICE OF THE MUNICIPAL COMMITTEE BADIN.

NO: MC/BDN/4/14/2 / of 2016, Dated:- Dated:-

#### **NOTICE INVITING TENDER.**

In pursuance of SPP Rule 2010, the sealed tenders are invited interested persons/parties/Firms/Suppliers/Companies to participate on standard Bidding documents forms for procurement of the following works.

Sr: No:	Name of work.	Estimate Cost.	Call Deposit.	Tender Fee.	Time Period.
1.	Maintenance of Sanitation Material of MC Badin.	1000000	20000	2000	06 Months
2.	Maintenance of drainage Electric Motors, Pumps, Foot Valves, Staters.	1000000	20000	2000	06 Months
3.	Maintenance of Water Supply Electric Motor, Pumps, Foot Valves, Staters.	1000000	20000	2000	06 Months
4.	Repair/Maintenance of Water Supply Pipe Lines in Badin City.	1000000	20000	2000	06 Months

The blank Tender Forms and others can be obtained from the office of the undersigned from 1st day of hosting on SPP Website upto 31-5-2014 at 12:00 AM on depositing required tenders fee shown against each work. The tenders will be received back on same day upto 1:00 PM and will be opened on same day at 2:00 PM in the presence of tender opening/evaluations committee and bidders or their authorized representative who wish to be present.

If the tender remains un-responded on 1 st attempt. The tender shall be issued from 1-6-2016 to 15.6.2016 and bids shall be received back on 17.6.2016 at 1:00 PM and open on same day at 2:00 PM.

Barnest money should be in the shape of call Deposit of the reputed Bank of the Pakistan and the deposit amount in the name of the Administrator Municipal Committee Badin. The Earnest money will be forfeited to the Government if the bidder modified or withdraw his bid after opening or fail to tender the contract after the bid is accepted.

4- Conditional Tenders & tender without accompaniment of earnest money shall not be considered.

5. The procuring agency may reject all or any bid, subject to the relevant provision of SPP Rules 2010.

Administrator

Municipal Committee Badin



#### GOVERNMENT OF SINDH LOCAL GOVERNMENT DEPARTMENT

Karachi, dated the 1st April, 2016

**NOTIFICATION** 

No.SO-III(LG)/14-30/2015:- With the approval of Competent Authority, a Procurement Committee consisting on following for undertaking Development Works in Municipal Committee, Badin during the year 2015-2016 is hereby constituted under Section-7 of SPPRA Rule 2010 subject to approval of NIT & Annual Budget 2015-16:-

 Chief Municipal Officer Municipal Committee, Badin.

Chairman.

ii. Municipal Engineer
Municipal Committee, Badin.

Member.

iii. Town Engineer, Town Committee, S.F Rahu.

Member.

The functions and responsibilities of procurement committee shall be as under: - (Section-8 of SPPRA Rule 2010):-

i) Preparing bidding documents.

ii) Carrying out technical as well as financial evaluation of the bids.

iii) Preparing evaluation report as provided in Rule 45.

iv) Making recommendations for the award of contract to the competent authority, and

v) Perform any other function ancillary and incidental to the above.

SECRETARY TO GOVT: OF SINDH

No.SO-III(LG)/14-30/2015,

Karachi, dated the 1<sup>st</sup> April, 2016.

A copy is forwarded for information and necessary action to: -

1. The Director, Sindh Public Procurement Regulatory Authority, Karachi

2. The Director, Local Government, Hyderabad.

3. The Deputy Commissioner / Administrator, Municipal Committee, Badin, District Badin w/r to his letter No. MC/BDN/ENG/21/2016, dated 22-03-2016.

4. The Chief Municipal Officer, Municipal Committee, Badin, District Badin.

5. The Municipal Engineer, Municipal Committee, Badin, District Badin.

6. The Town Engineer, Town Committee, Shaheed Fazil Rahu (Golarchi), District Badin.

7. The Assistant Director, Local Fund Audit, District Badin.

8. P.S. to Secretary Local Government Department, Government of Mindh, Karachi.

9. Office order file.

SECTION OFFICER-III

FOR SECRETARY TO GOVT: OF SINDH

## Instructions to Bidders/ Procuring Agencies.

## General Rules and Directions for the Guidance of Contractors.

This section of the bidding documents should provide the information necessary for bidders to prepare responsive bids, in accordance with the requirements of the Procuring Agency. It should also give information on bid submission, opening and evaluation, and on the award of contract.

Matters governing the performance of the Contract or payments under the Contract, or matters affecting the risks, rights, and obligations of the parties under the Contract are included as Conditions of Contract and Contract Data.

The Instructions to Bidders will not be part of the Contract and will cease to have effect once the contract is signed.

1. All work proposed to be executed by contract shall be notified in a form of Notice Inviting Tender (NIT)/Invitation for Bid (IFB) hoisted on website of Authority and Procuring Agency and also in printed media where ever required as per rules.

NIT must state the description of the work, dates, time and place of issuing, submission, opening of bids, completion time, cost of bidding document and bid security either in lump sum or percentage of Estimated Cost/Bid Cost. The interested bidder must have valid NTN also.

- 2. Content of Bidding Documents must include but not limited to: Conditions of contract, Contract Data, specifications or its reference, Bill of Quantities containing description of items with scheduled/item rates with premium to be filled in form of percentage above/ below or on item rates to be quoted. Form of Agreement and drawings.
- 3. Fixed Price Contracts: The Bid prices and rates are fixed during currency of contract and under no circumstance shall any contractor be entitled to claim enhanced rates for any item in this contract.
- 4. The Procuring Agency shall have right of rejecting all or any of the tenders as per provisions of SPP Rules 2010.
- 5. Conditional Offer: Any person who submits a tender shall fill up the usual printed form stating at what percentage above or below on the rates specified in Bill of Quantities for items of work to be carried out: he is willing to undertake the work and also quote the rates for those items which are based on market rates. Only one rate of such percentage, on all the Scheduled Rates shall be framed. Tenders, which propose any alternative in the works specified in the said form of invitation to tender or in the time

allowed for carrying out the work, or which contain any other conditions, will be liable to rejection. No printed form of tender shall include a tender for more than one work, but if contractor wish to tender for two or more works, they shall submit a separate tender for each.

The envelope containing the tender documents shall refer the name and number of the work.

- 6. All works shall be measured by standard instruments according to the rules.
- 7. Bidders shall provide evidence of their eligibility as and when requested by the Procuring Agency.
- 8. Any bid received by the Agency after the deadline for submission of bids shall be rejected and returned unopened to the bidder.
- 9.Prior to the detailed evaluation of bids, the Procuring Agency will determine whether the bidder fulfills all codal requirements of eligibility criteria given in the tender notice such as registration with tax authorities, registration with PEC (where applicable), turnover statement, experience statement, and any other condition mentioned in the NIT and bidding document. If the bidder does not fulfill any of these conditions, it shall not be evaluated further.
- 10. Bid without bid security of required amount and prescribed form shall be rejected.
- 11. Bids determined to be substantially responsive shall be checked for any arithmetic errors. Arithmetical errors shall be rectified on the following basis;
  - (A) In case of schedule rates, the amount of percentage quoted above or below will be checked and added or subtracted from amount of bill of quantities to arrive the final bid cost.
  - (B) In case of item rates, If there is a discrepancy between the unit rate and the total cost that is obtained by multiplying the unit rate and quantity, the unit rate shall prevail and the total cost will be corrected unless in the opinion of the Agency there is an obvious misplacement of the decimal point in the unit rate, in which case the total cost as quoted will govern and the unit rate corrected. If there is a discrepancy between the total bid amount and the sum of total costs, the sum of the total costs shall prevail and the total bid amount shall be corrected.
  - (C) Where there is a discrepancy between the amounts in figures and in words, the amount in words will govern.

### Conditions of Contract

Clause - 1:Commencement & Completion Dates of work. The contractor shall not enter upon or commence any portion or work except with the written authority and instructions of the Engineer-in-charge or of in subordinate-in-charge of the work. Failing such authority the contractor shall have no claim to ask for measurements of or payment for work.

The contractor shall proceed with the works with due expedition and without delay and complete the works in the time allowed for carrying out the work as entered in the tender shall be strictly observed by the contractor and shall reckoned from the date on which the order to commence work is given to the contractor. And further to ensure good progress during the execution of the wok, contractor shall be bound, in all in which the time allowed for completion of any work exceeds one month, to achieve progress on the prorate basis.

Clause – 2:Liquidated Damages. The contractor shall pay liquidated damages to the Agency at the rate per day stated in the bidding data for each day that the completion date is later than the Intended completion date; the amount of liquidated damage paid by the contractor to the Agency shall not exceed 10 per cent of the contract price. Agency may deduct liquidated damages from payments due to the contractor. Payment of liquidated damages does not affect the contractor's liabilities.

### Clause - 3: Termination of the Contract.

- (A) Procuring Agency/Executive Engineer may terminate the contract if either of the following conditions exits:-
  - (i) contractor causes a breach of any clause of the Contract;
  - (ii) the progress of any particular portion of the work is unsatisfactory and notice of 10 days has expired;
  - (iii) in the case of abandonment of the work owing to the serious illness or death of the contractor or any other cause.
  - (iv) contractor can also request for termination of contract if a payment certified by the Engineer is not paid to the contractor within 60 days of the date of the submission of the bill;
- (B) The Executive Engineer/Procuring Agency has power to adopt any of the following courses as may deem fit:-
  - (i) to forfeit the security deposit available except conditions mentioned at A (iii) and (iv) above;
  - (ii) to finalize the work by measuring the work done by the contractor.

- (C) In the event of any of the above courses being adopted by the Executive Engineer/Procuring Agency, the contractor shall have:-
  - (i) no claim to compensation for any loss sustained by him by reason of his having purchased or procured any materials, or entered into any engagements, or made any advances on account of, or with a view to the execution of the work or the performance of the contract,
  - (ii) however, the contractor can claim for the work done at site duly certified by the executive engineer in writing regarding the performance of such work and has not been paid.

Procuring Agency/Engineer may invite fresh bids for remaining work.

Clause 4: Possession of the site and claims for compensation for delay. The Engineer shall give possession of all parts of the site to the contractor. If possession of site is not given by the date stated in the contract data, no compensation shall be allowed for any delay caused in starting of the work on account of any acquisition of land, water standing in borrow pits/ compartments or in according sanction to estimates. In such case, either date of commencement will be changed or period of completion is to be extended accordingly.

Clause -5: Extension of Intended Completion Date. The Procuring Agency either at its own initiatives before the date of completion or on desire of the contractor may extend the intended completion date, if an event (which hinders the execution of contract) occurs or a variation order is issued which makes it impossible to complete the work by the intended completion date for such period as he may think necessary or proper. The decision of the Executive Engineer in this matter shall be final; where time has been extended under this or any other clause of this agreement, the date for completion of the work shall be the date fixed by the order giving the extension or by the aggregate of all such orders, made under this agreement.

When time has been extended as aforesaid, it shall continue to be the essence of the contract and all clauses of the contract shall continue to be operative during the extended period.

Clause -6: Specifications. The contractor shall execute the whole and every part of the work in the most substantial and work-man-like manner and both as regards materials and all other matters in strict accordance with the specifications lodged in the office of the Executive Engineer and initialed by the parties, the said specification being a part of the contract. The contractor shall also confirm exactly, fully and faithfully to the designs, drawing, and instructions in writing relating to the work signed by the Engineer-in-charge and lodge in his office and to which the contractor shall be entitled to have access at such office or on the site of work for the purpose of inspection during office hours and the contractor shall, if he so requires, be entitled at his own expense to make or cause to be made copies of the specifications, and of all such designs, drawings, and instructions as aforesaid.

### Clause - 7: Payments.

(A) Interim/Running Bill. A bill shall be submitted by the contractor as frequently as the progress of the work may justify for all work executed and not included in any previous bill at least once in a month and the Engineer-in-charge shall take or cause to be taken the requisite measurements for the purpose of having the same verified and the claim, as for as admissible, adjusted, if possible before the expiry of ten days from the presentation of the bill, at any time depute a subordinate to measure up the said work in the presence of the contractor or his authorized agent, whose countersignature to the measurement list will be sufficient to warrant and the Engineer-in-charge may prepare a bill from such list which shall be binding on the contractor in all respects.

The Engineer /Procuring Agency shall pass/certify the amount to be paid to the contractor, which he considers due and payable in respect thereof, subject to deduction of security deposit, advance payment if any made to him and taxes.

All such intermediate payment shall be regarded as payments by way of advance against the final payment only and not as payments for work actually done and completed, and shall not preclude the Engineer-in-charge from recoveries from final bill and rectification of defects and unsatisfactory items of works pointed out to him during defect liability period.

(B) The Final Bill. A bill shall be submitted by the contractor within one month of the date fixed for the completion of the work otherwise Engineer-in-charge's certificate of the measurements and of the total amount payable for the works shall be final and binding on all parties.

Clause – 8: Reduced Rates. In cases where the items of work are not accepted as so completed, the Engineer-in-charge may make payment on account of such items at such reduced rates as he may consider reasonable in the preparation of final or on running account bills with reasons recorded in writing.

### Clause - 9: Issuance of Variation and Repeat Orders.

- (A) Agency may issue a Variation Order for procurement of works, physical services from the original contractor to cover any increase or decrease in quantities, including the introduction of new work items that are either due to change of plans, design or alignment to suit actual field conditions, within the general scope and physical boundaries of the contract.
- (B) Contractor shall not perform a variation until the Procuring Agency has authorized the variation in writing subject to the limit not exceeding the contract cost by of 15% on the same conditions in all respects on which he agreed to do them in the

work, and at the same rates, as are specified in the tender for the main work. The contractor has no right to claim for compensation by reason of alterations or curtailment of the work.

- (C) In case the nature of the work in the variation does not correspond with items in the Bill of Quantities, the quotation by the contractor is to be in the form of new rates for the relevant items of work, and if the Engineer-in-charge is satisfied that the rate quoted is within the rate worked out by him on detailed rate analysis, and then only he shall allow him that rate after approval from higher authority.
- (D) The time for the completion of the work shall be extended in the proportion that the additional work bear to the original contact work.
- (E) In case of quantities of work executed result the Initial Contract Price to be xceeded by more than 15%, and then Engineer can adjust the rates for those quantities causing excess the cost of contract beyond 15% after approval of Superintending Engineer.
- (F) Repeat Order: Any cumulative variation, beyond the 15% of initial contract amount, shall be subject of another contract to be tendered out if the works are separable from the original contract.

### Clause-10: Quality Control.

- (A) Identifying Defects: If at any time before the security deposit is refunded to the contractor/during defect liability period mentioned in bid data, the Engineer-in-charge or his subordinate-in-charge of the work may instruct the contractor to uncover and test any part of the works which he considers may have a defect due to use of unsound materials or unskillful workmanship and the contractor has to carry out a test at his own cost irrespective of work already approved or paid.
- (B) Correction of Defects: The contractor shall be bound forthwith to rectify or remove and reconstruct the work so specified in whole or in part, as the case may require. The contractor shall correct the notified defect within the Defects Correction Period mentioned in notice.

### (C) Uncorrected Defects:

(i) In the case of any such failure, the Engineer-in-charge shall give the contractor at least 14 days notice of his intention to use a third party to correct a defect. He may rectify or remove, and re-execute the work or remove and replace the materials or articles complained of as the case may be at the risk and expense in all respects of the contractor.

(ii) If the Engineer considers that rectification/correction of a defect is not essential and it may be accepted or made use of; it shall be within his discretion to accept the same at such reduced rates as he may fix therefore.

#### Clause - 11:

- (A) Inspection of Operations. The Engineer and his subordinates, shall at all reasonable times have access to the site for supervision and inspection of works under or in course of execution in pursuance of the contract and the contractor shall afford every facility for and every assistance in obtaining the right to such access.
- (B) Dates for Inspection and Testing. The Engineer shall give the contractor reasonable notice of the intention of the Engineer-in-charge or his subordinate to visit the work shall have been given to the contractor, then he either himself be present to receive orders and instructions, or have a responsible agent duly accredited in writing present for that purpose, orders given to the contractor's duly authorized agent shall be considered to have the same force an effect as if they had been given to the contractor himself.

### Clause – 12: Examination of work before covering up.

- (A) No part of the works shall be covered up or put out of view/beyond the reach without giving notice of not less than five days to the Engineer whenever any such part of the works or foundations is or are ready or about to be ready for examination and the Engineer shall, without delay, unless he considers it unnecessary and advises the contractor accordingly, attend for the purpose of examining and measuring such part of the works or of examining such foundations;
- (B) If any work is covered up or placed beyond the reach of measurement without such notice having been given, the same shall be uncovered at the contractor's expense, and in default thereof no payment or allowance shall be made for such work, or for the materials with which the same was executed.

Clause – 13: Risks. The contractor shall be responsible for all risks of loss of or damage to physical property or facilities or related services at the premises and of personal injury and death which arise during and in consequence of its performance of the contract. if any damage is caused while the work is in progress or become apparent within three months of the grant of the certificate of completion, final or otherwise, the contractor shall make good the same at his own expense, or in default the Engineer may cause the same to be made good by other workmen, and deduct the expenses from retention money lying with the Engineer.

Clause-14: Measures for prevention of fire and safety measures. The contractor shall not set fire to any standing jungle, trees, bush-wood or grass without a written permit from the Executive Engineer. When such permit is given, and also in all cases when destroying, cutting or uprooting trees, bush-wood, grass, etc by fire, the contractor shall take necessary measures to prevent such fire spreading to or otherwise damaging surrounding property. The contractor is responsible for the safety of all its activities including protection of the environment on and off the site. Compensation of all damage done intentionally or unintentionally on or off the site by the contractor's labour shall be paid by him.

Clause-15:Sub-contracting. The contractor shall not subcontract the whole of the works, except where otherwise provided by the contract. The contractor shall not subcontract any part of the works without the prior consent of the Engineer. Any such consent shall not relieve the contractor from any liability or obligation under the contract and he shall be responsible for the acts, defaults and neglects of any subcontractor, his agents, servants or workmen as if these acts, defaults or neglects were those of the contractor, his agents' servants or workmen. The provisions of this contract shall apply to such subcontractor or his employees as if he or it were employees of the contractor.

Clause – 16: Disputes. All disputes arising in connection with the present contract, and which cannot be amicably settled between the parties, , the decision of the Superintending Engineer of the circle/officer/one grade higher to awarding authority shall be final, conclusive and binding on all parties to the contract upon all questions relating to the meaning of the specifications, designs drawings, and instructions, hereinbefore mentioned and as to the quality of workmanship, or materials used on the work or as to any other questions, claim, right, matter, or thing whatsoever in any way arising out of, or relating to the contract design, drawings, specifications, estimates, instructions, orders or these conditions or otherwise concerning the works, or the execution, of failure to execute the same, whether arising, during the progress of the work, or after the completion or abandonment thereof.

Clause -17: Site Clearance. On completion of the work, the contractor shall be furnished with a certificate by the Executive Engineer (hereinafter called the Engineer incharge) of such completion, but neither such certificate shall be given nor shall the work be considered to be complete until the contractor shall have removed all temporary structures and materials brought at site either for use or for operation facilities including cleaning debris and dirt at the site. If the contractor fails to comply with the requirements of this clause then Engineer-in-charge, may at the expense of the contractor remove and dispose of the same as he thinks fit and shall deduct the amount of all expenses so incurred from the contractor's retention money. The contractor shall have no claim in respect of any surplus materials as aforesaid except for any sum actually realized by the sale thereof.

### Clause -18: Financial Assistance /Advance Payment.

- (A) Mobilization advance is not allowed.
- (B) Secured Advance against materials brought at site.
  - (i) Secured Advance may be permitted only against imperishable materials/quantities anticipated to be consumed/utilized on the work within a period of three months from the date of issue of secured advance and definitely not for full quantities of materials for the entire work/contract. The sum payable for such materials on site shall not exceed 75% of the market price of materials;
  - (ii) Recovery of Secured Advance paid to the contractor under the above provisions shall be affected from the monthly payments on actual consumption basis, but not later than period more than three months (even if unutilized).

Clause -19: Recovery as arrears of Land Revenue. Any sum due to the Government by the contractor shall be liable for recovery as arrears of Land Revenue.

Clause -20: Refund of Security Deposit/Retention Money. On completion of the whole of the works (a work should be considered as complete for the purpose of refund of security deposit to a contractor from the last date on which its final measurements are checked by a competent authority, if such check is necessary otherwise from the last date of recording the final measurements), the defects notice period has also passed and the Engineer has certified that all defects notified to the contractor before the end of this period have been corrected, the security deposit lodged by a contractor (in cash or recovered in installments from his bills) shall be refunded to him after the expiry of three months from the date on which the work is completed.

Divisional Accountant

Contractor

Executive Engineer/Procuring Agency

(a).	Name of Procuring Agency:- Municipal Committee Badin.								
(b).	Brief Description of Works:-	Maintenance of Sa	nitation Material of MC Badin						
(c).	Procuring Agency's address:-Municipal Committee Badin Quaid-E-Azam Road near Benazir Bhuttoo Park Badin.								
(d).	Estimated Cost:-	10,00,000/-							
(e).	Amount of Bid Security:-	2.%							
(f).	Period of Bid Validity ( Days):- 90 Days.								
(g).	Security Deposit:- (including bids security): 20,000/-								
(h).	Percentage, if any, to be deducted from Bills 17.50% performance security 10% Income Tax 7.50%								
(i).	Deadline for submission of B	Bids along with time:	upto 12.00 AM in cas Response the tenders with be received upto 1.00 PM.						
(j).	Venue, Time, and Date of Bi	d Opening:-	upto 12.00 AM in Response the tenders with be received upto 1.00 PM						
(k).	Time for Completion from w	ritten order of comm	ence: 06 Months.						
(1).	Liquidity Damages:Nil-	*							
(m).	Deposit Receipt No:	Date	Amount Rs.						

(a).	Name of Procuring Agency:-	Municipal Commit	tee Badin.						
(b).	Brief Description of Works:-	Maintenance of D Foot Valves, State	rainage Electric Motors, Pumps rs.	,					
(c).	Procuring Agency's address:	-Municipal Commit Benazir Bhuttoo Pa	tee Badin Quaid-E-Azam Road ne rk Badin.	ear					
(d).	Estimated Cost:-	10,00,000/-							
(e).	Amount of Bid Security:-	2.%							
(f).	Period of Bid Validity ( Days):- 90 Days.								
(g).	Security Deposit:- (including bids security): 20,000/-								
(h).	Percentage, if any, to be dedu	acted from Bills 17.5	0% performance security 10% Income Tax 7.50%						
(i).	Deadline for submission of B	ids along with time:	upto 12.00 AM in case Response the tenders with be received upto 1.00 PM.						
(j).	Venue, Time, and Date of Bid Opening:-  Response the tenders with be received on upto 1.00 PM								
(k).	Time for Completion from w	ritten order of comm	ence: 06 Months.						
(1).	Liquidity Damages:Nil-		4						
(m).	Deposit Receipt No:	Date	Amount Rs.						

(a).	Name of Procuring Agency:- Municipal Committee Badin.							
(b).	Brief Description of Works:- Maintenance of Water Supply Electric Motors, Pum Foot Valves, Staters.							
(c).	Procuring Agency's address:-Municipal Committee Badin Quaid-E-Azam Road near Benazir Bhuttoo Park Badin.							
(d).	Estimated Cost:-	10,00,000/-						
(e).	Amount of Bid Security:-	2.%						
(f).	Period of Bid Validity (Days):- 90 Days.							
(g).	Security Deposit:- (including bids security): 20,000/-							
(h).	Percentage, if any, to be deducted from Bills 17.50% performance security 10% Income Tax 7.50%							
(i).	Deadline for submission of B	ids along with time:	upto 12.00 AM in case.  Response the tenders with be received of upto 1.00 PM.					
(j).	Venue, Time, and Date of Bid Opening:- upto 12.00 AM in case  Response the tenders with be received on upto 1.00 PM							
(k).	Time for Completion from w	ritten order of comm	ence: 06 Months.					
(1).	Liquidity Damages:Nil-							
(m).	Deposit Receipt No:	Date	Amount Rs.					

(a).	Name of Procuring Agency:- Municipal Committee Badin.								
(b).	Brief Description of Works:-	Repair/Maintenance	of Water Supply Pipe Lines in Ba	din City.					
(c).	Procuring Agency's address:	- Municipal Commit Benazir Bhuttoo Pa	tee Badin Quaid-E-Azam Road ne rk Badin.	ear					
(d).	Estimated Cost:-	10,00,000/-							
(e).	Amount of Bid Security:-	2.%							
(f).	Period of Bid Validity ( Days):- 90 Days.								
(g).	Security Deposit:- (including bids security): 20,000/-								
(h).	Percentage, if any, to be deducted from Bills 17.50% performance security 10% Income Tax 7.50%								
(i).	Deadline for submission of B	ids along with time:	upto 12.00 AM in cas Response the tenders with be received upto 1.00 PM.						
(j).	Venue, Time, and Date of Bi	d Opening:-	upto 12.00 AM in Response the tenders with be received upto 1.00 PM						
(k).	Time for Completion from w	ritten order of comm	ence: 06 Months.						
(1).	Liquidity Damages:Nil-								
(m).	Deposit Receipt No:	Date	Amount Rs						

# OFFICE OF THE MUNICIPAL COMMITTEE BADIN.

## Eligibility/Qualification Criteria:

S.No:	Eligibility/Qualification Criteria:						
1.	NTN						
2.	Sales Tax Registration						
3.	Registration with Sindh Revenue Board (SRB) (if applicable)						
	Qualification Criteria:						
4.	Minimum three Year's experience of Relevant filed.						
5.	Turnover of at least last three years should be equal to the work cost bidden which is in interested (Bank state, Tax Returns, Audited Balance Sheets, etc)						
6.	Required Bid security is attached						
7.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization letter.						

### SCHEDULE "B"

Name of Work:-

MAINTENANCE OF SANITATION MATERIAL OF MC BADIN

S.#	Item Qty.		Ra	ite. Unit.		Amount	
1) Supply of I	Hand Trolies (N.	Iarket Rate)		2			
Qty:	100.0	Nos	@ Rs.	4500.00	Each	Rs.	450000.00
2) Supply of F	Round Pickaxe	Market Rat	te)				
Qty:	100.0	Nos	@ Rs.	300.00	Each	Rs.	30000.00
3) Supply of S	Shawer (Market	Rate)					
Qty:	100.0	Nos	@ Rs.	400.00	Each	Rs.	40000.00
4) Supply of L	Long Wooden S	ticks (Mark	et Rate)				
Qty:	100.0	Nos	@ Rs.	500.00	Each	Rs.	50000.00
5) Supply of R	Ropes (Market I	Rate)					
Qty:	160.0	Kgs	@ Rs.	300.00	P. Kg	Rs.	48000.00
6) Supply of S	weeps (Market	Rate)		*			*
Qty:	450.0	Nos	@ Rs.	80.00	Each	Rs.	36000.00
7) Supply of D	Date boxes (Mar	ket Rate)					
Qty:	200.0	Nos	@ Rs.	80.00	Each	Rs.	16000.00
8) Supply of N	1.S Box (Marke	et Rate)					
Qty:	450.0	Nos	@ Rs.	50.00	Each	Rs.	22500.00
9) Supply of C	Circuler Pick Ax	es (Market	Rate)				*
Qty:	130.0	Nos	@ Rs.	350.00	Each	Rs.	45500.00
10) Supply of	Beldar Pick Ax	e (Market R	late)				
Qty:	90.0	Nos	@ Rs.	380.00	Each	Rs.	34200.00
11) Supply of	Main Nala Pick	Axe (Mark	tet Rate)				
Qty:	80.0	Nos	@ Rs.	400.00	Each	Rs.	32000.00
12) Supply of	Tekum (Market	Rate)					
Qty:	40.0	Nos	@ Rs.	450.00	Each	Rs.	18000.00
13) Supply of	Axes (Market R	late)					7
Qty:	80.0	Nos	@ Rs.	100.00	Each	Rs.	8000.00
14) Supply of I	Nail Clippers (N	Market Rate	)				
Qty:	130.0	Nos	@ Rs.	350.00	Each	Rs.	45500.00
15) Supply of	Trolly Tyre & F	Rim (Marke	t Rate)				
Qty:	80.0	Nos	@ Rs.	250.00	Each	Rs.	20000.00
16) Supply of 7	Frolly Tyre Tub	e (Market I	Rate)				
Qty:	80.0	Nos	@ Rs.	400.00	Each	Rs.	32000.00
17) Supply of T	Γrolly Tyre Bea	ring (Marke	et Rate)				8
Qty:	300.0	Nos	@ Rs.	20.00	Each	Rs.	6000 00

S.#	Item	Q	ty.		Rate.		Unit.	Amount
18) Supply o	of Excel for Tro	ly (Market F	Rate)	-			,	
Qty:	100.0	Nos	@ Rs.	60.00		Each	Rs.	6000.00
19) Supply o	of Hammer (Ma	rket Rate)					1 -g. 1	
Qty:	30.0	Nos	@ Rs.	700.00		Each	Rs.	21000.00
20) Supply o	of Steel Supports	s (Market Ra	te)					
Qty:	50.0	Nos	@ Rs.	800.00		Each	Rs.	40000.00
							Total Rs.	1000700.00

#### TERMS AND CONDITIONS.

- Any errer or ommission in description of items Quantity and units will be governed by relevent schedule of rates and relevents rate anlysises.
- The decision of the Administrator MC Badin will be final and binding on all the parties in any shape.
- 3 No premuim allow on be non schedule items.

4 No seprate carriage will be paid.

Municipal combittee Badin

Sub: Engineer . Municipal Committee Badin

## SCHEDULE "B"

Name of Work:-

MAINTENANCE OF WATER SUPPLY ELECTRIC MOTOR, PUMPS, FOOT VALAVES, STARTER.

S.#		Item	Qt		Rate.		Unit.		Amount
					LA7-131-2AA-60				
	400/420 V )ty:	2.0 2950	RPM for Set	water supp @ Rs.	ply scheme at Bac 285800.00	din P. Set		Rs.	571600.00
					)-160). Size(4"x:		ole of		371000.00
		llons per min	_			) Capac	ne or		
	ty:	2.0	Set		75600.00	P. Set		Rs.	151200.00
3) Provid	ling & fixi	ng automatic	star delta	starter (M	odel No.ASD-15)	).			
Ç	ty:	3.0	Nos	@ Rs.	48750.0	Each		Rs.	146250.00
4) C.I Sh 5 P-09).	uice Valve	heavy pattern	ns (test pr	essure 21.	0kg/sq.cm or 300	lb/sq.Inch	) (PH	SI: No.	
, C	(ty:	2.00	Nos	@ Rs.	5465.00	Each		Rs.	10930.00
5) C.I Fo	ot Valve h	eavy patterns	with cone	type gate	. (SMI No: 04, P-	-10)			
1	ty:	8.00	Nos	@ Rs.	893.75	Each		Rs.	7150.00
Ç	ty:	10.00	Nos	@ Rs.	1161.88	Each		Rs.	11619.00
Q	ty:	12.00	Nos	@ Rs.	4655.33	Each		Rs.	55864.00
	facturing dril		vith weldi	ng M.Sfla	anged pipe made	out of M.	S she	et 3/8"	
Q	ty:	24.0	Rft	@ Rs.	586.60	P. Rft		Rs.	14078.00
		ferent dia ma flange with N			of various thickre	ness i/c cu	tting d	lrilling	
Q	ty:	32.0	Nos	@ Rs.	596.75	Each		Rs.	19096.00
packing o	f required	thickness nu	its and bo	lts with w	and inside trencher ashers etc and o etc. (PHSI.NO.1,	ther tools			
Q	ty:	24.00	Joints	@ Rs.	513.00	P. Joints		Rs.	12312.00
							Tota	l Rs.	1000099.00
	TERMS	AND CONDI	ITIONS.						
1		rer or ommission and relevents r			ems Quantity and u	inits will be	e gove	rned by	relevent schedule
. 2	The dec	ision of the Ad	lministrator	MC Badin	will be final and b	inding on a	all the p	oarties i	n any shape.
3	-	nuim allow on	\ //	edule items					
4	No cent	ote carriage wi	The naid						

4 No seprate carriage will be paid.

Municipal Engineer Municipal Committee Badin

Sub: Engineer Municipal Committee Badin

Name of Work:-

SCHEDULE "B"
REPAIR MAINTENANCE OF WATER SUPPLY PIPE LINES IN BADIN CITY.

G. II .	Υ.				n :	lrr :		
	Item		lty.	D 12)	Rate.	Unit.	- 1	Amount
1)Dismentalling an	3000.0	g Road (G: Cft				P% Cft	Rs.	18150.00
Qty: 2) Providing P.V.			_	605.00	ing in tre			18150.00
10" dia	C pipe of c	1455 1) (1)	quivaient	make) m	ing in tic	iicii i/c cutti	ng, mung	
Qty:	120.0	Rft	@ Rs.	721.00		P. Rft	Rs.	86520.00
6" dia	120.0	100	(6) 100.	721.00		1,100	200.	00020.00
Qty:	150.0	Rft	@ Rs.	262.00		P. Rft	Rs.	39300.00
4" dia								
Qty:	160.0	Rft	@ Rs.	137.00		P. Rft	Rs.	21920.00
3" dia								
Qty:	500.0	Rft	_	90.00		P. Rft	Rs.	45000.00
3) Excavation for			-					
side to true alignm								*
grade, cutting join								
directed by Engine crossing for none			-	_		_		
lead up to one chai					t upto 5	11 (1.52111)	and	-   *
iodd ap to one ond								
Qty:	7635.0	Cft	@ Rs.	3600.00		P‰ Cft	Rs.	27486.00
4) PVC "Z" Joint f	itting (PHS	MINo:18,F	P-112)					
i) Tee Equal								7 **
3" Dia Qty:	2.0	Nos	@ Rs.	900.00		Each	Rs.	1800.00
ii) Tee un-Equal								
4"x4"x3"			O D	1101 00		r. 1		2262.00
Qty: 6"x6"x3"	2.0	Nos	@ Rs.	1181.00		Each	Rs.	2362.00
Qty:	2.0	Nos	@ Rs.	1800.00	*	Each	Rs.	3600.00
10"x10"x3"	2.0	1105	w Its.	1000.00		Lacii	105.	3000.00
Qty:	1.0	Nos	@ Rs.	4950.00		Each	Rs	4950.00
iii) Bend 90°			0	, 1				
3" dia Qty:	2.0	Nos	@ Rs.	731.00		Each	Rs.	1462.00
4" dia Qty:	1.0	Nos	@ Rs.			Each	Rs.	956.00
iv) P.V.C Socket (S								
· 12" dia Qty:	2.0	Nos	@ Rs.	4725.00		Each	Rs.	9450.00
10" dia Qty:	2.0	Nos	@ Rs.	4725.00		Each	Rs.	9450.00
v) Air valve double	e acting (St	OM.I.No. 8	P-98)					
Qty:	1.0	Nos	-	4000.00		Each	Rs.	4000.00
vi) End plug (S.M.l 6" dia Qty:	2.0	Nos	@ Pc	690.00		Each	Rs.	1380,00
4" dia Qty:	2.0	Nos				Each	Rs.	1160 00
3" dia Qty:	2.0	Nos	_	382.00		Each	Rs.	764.00
vii) Fire Hyderant 7	rees (SOM	.I.No: 10,P	-102).					Ř
3" Dia Qty:	2.0	Nos	@ Rs.	1187.50		Each	Rs.	2375.00

S.#	Item	Qt	·y.	R	ate. Unit.	Amo	unt
5) C.I Sluice Va	lve heavy pa				sq.cm .or 300 lbs/sq		
(important) ((S.N	1.I No. 18 P-	21)					-
12" dia Qty:	1.0	No	@ Rs.	78000.00	Each	Rs. 7	8000.00
10" dia Qty:	1.0	No	@ Rs.	27690.00	Each	Rs. 2	7690.00
6" dia Qty:	1.0	Nos	@ Rs.	9360.00	Each	Rs.	9360.00
4" dia Qty:	1.0	Nos	@ Rs.	5460.00	Each	Rs. 5	5460.00
3" dia Qty:	1.0	Nos	@ Rs.	4290.00	Each	Rs. 4	4290.00
6) C.I tail pieces	(S.M.I No.9	P-101)					
12" dia Qty:	2.0	Nos	@ Rs.	2600.00	Each	Rs. 5	5200.00
10" dia Qty:	2.0	No	@ Rs.	2212.50	Each	Rs. 4	1425.00
6" dia Qty:	2.0	Nos.	@ Rs.	618.75	Each	Rs.	1238.00
4" dia Qty:	2.0	Nos	@ Rs.	487.50	Each	Rs.	975.00
3" dia Qty:	5.0	Nos	@ Rs.	375.00	Each	Rs. 1	1875.00
as per approved frame (wt. 1 cwt 6" (152mm) thick surface and to to depth curing exce	designed for 3 qr.) fixed is cement concept i/c provide	sluice valve in RCC 1:2 crete 1:2:4 ing and fixi	e 3" to 1 :4 slab 4 flooring! ing M.S	2",18" (497 " (1.02mm) ½" (1.5mm) foot rest as	msion 4½" @ (1372mr mm) dia inside cost in thick the steel per cft thick plaster 1:3 inside every one foot beyon earth to complete (PHS	ron and mortar le valve nd 2 ½	
P- 49) Qty: 12) Refilling the compaction etc co			s in 6" t	18820.00 hick layers	Each i/c watering ramming		8820.00
Qty:	6872	Cft	@ Rs.	2760.00	P%o Cft	Rs. 18	8967.00
For Interconnec 13) Manufacturi curvature and sha	ng installing			ut sheet 1/	16" thick cutting fold	ding to	
10" dia Qty:	50.0	Rft	@ Rs.	1226.76	P. Rft	Rs. 61	1338.00
6" dia Qty:	100.0	Rft	@ Rs.	749.34	P. Rft	Rs. 74	4934.00
4" dia Qty:	30.0	Rft	@ Rs.	506.60	P. Rft	Rs. 15	5198.00
3" dia Qty:	20.0	Rft	@ Rs.	385.89	P. Rft	Rs. 7	718.00
14) Manufacturi proper curvature		_			/8" thick cutting fold	ling to	
10" dia Qty:	2.0	Nos	_	904.77			810.00
6" dia Qty:	2.0	Nos	_	804.77			610.00
4" dia Qty: 3" dia Qty:	2.0 2.0	Nos Nos	_	596.75 500.89			194.00 002.00
7.					nch (SMINo:06,P-97)	1.0.	004.00
12" dia Qty:	1.0	No		21937.50		Rs. 21	1938.00
6" dia Qty:	1.0	Nos					062.00
	× 4		<u></u>				

	<i>Item</i>	Qt		Rate.	Unit.	1 4	Amount
16) C.I bend with (SMINo: 8 P-98)	n flanged en	ds with he	oles i/c tu	rning and faci	ng of flanges for	all size	
6" dia Qty:	18.61	Kg	@ Rs.	120.00	P. Kg	Rs.	2233.00
17) C.I tee flanged		_	_				
P- )			49)		and a		
Qty:	3.75	Cwt	@ Rs.	6096.00	P. Cwt	Rs.	22860.00
18) Joints C.I/M.S							
rubber packing of required for jointin							5
10" dia Qty:	1.0	Joint	@ Rs.	2239.00	P. Joint	Rs.	2239.00
8" dia Qty:	2.0	Joint	@ Rs.	940.00	P. Joint	Rs.	1880.00
6" dia Qty:	1.0	Joint	@ Rs.	938.00	P. Joint	Rs.	938.00
4" dia Qty:	1.0	Joint	@ Rs.	513.00	P. Joint	Rs.	513.00
3" dia Qty:	1.0	Joint	@ Rs.	499.00	P. Joint	Rs.	499.00
19) Provinding F.C							
in trenches IC cutti head of 122 meter of		. jointing	with rebb	le ring i/c testi	ng with water to	a	
10" Dia Qty:	90.00	Rft	@ Rs.	944.00	P. Rft	Rs.	84960.00
8" Dia Qty:	108.00	Rft	@ Rs.	904.00	P. Rft	Rs.	97632.00
6" Dia Qty:	150.00	Rft	@ Rs.	895.00	P. Rft	Rs.	134250.00
20) Making Joints			-				
of required dia met to the specified pre-		-					
to the specified pre-	ssure ee man	mg good (	o an ican	y joints etc cor	iipiete(11151, 2,1	-33)	
Qty:	13.0	Nos	0	184.00	Each	Rs.	2392.00
Qty:	10.0	Nos	@ Rs.	59.00	Each	Rs.	590.00
					Tota	l Rs.	1000173.00

#### TERMS AND CONDITIONS.

- Any errer or ommission in description of items Quantity and units will be governed by relevent schedule of rates and relevents rate anlysises.
- The decision of the Administrator MC Badin will be final and binding on all the parties in any shape.
- 3 No premuim allow on be non schedule items.
- 4 No seprate carriage will be paid.

Municipal Britineer Municipal Committee Badin

Sub: Engineer Municipal Committee Badin

### SCHEDULE "B"

Name of Work:-

MAINTENANCE OF DRAINAGE ELECTRIC MOTOR, PUMPS, FOOT VALAVES, STARTER.

S.#	Item	. (	ty.	Rate	. Ui	iit.	Amount
				Гуре 1LA7-131-			
phase 50cycles				Drainage Schen			
Qty:	2.0	Set	@ Rs.	209200.00	P. Set	Rs.	418400.00
2) Providing K	SB Centrift	igal pun	np ETA	(50-16). Size(4'	'x5") capable	of	, .
Qty:	3.0	Set	@ Rs.	65900.00	P. Set	Rs.	197700.00
3) Providing & 1	fixing automa	ıtic star d	elta starte	r (Model No.AS)	D-15).		
Qty:	4.0	Nos	@ Rs.	48750.0	Each	Rs.	195000.00
C.I Foot Valv	e heavy patte	erns with	cone type	gate. (SMI No:	04, P-10)		
Qty:	16.00	Nos	@ Rs.	893.75	Each	Rs.	14300.00
Qty:	21.00	Nos	@ Rs.	1161.88	Each	Rs.	24399.00
Qty:	23.00	Nos	@ Rs.	4655.33	Each	Rs.	107073.00
) Manufacturii	ng & Installi	ng with	welding N	M.Sflanged pipe	made out of l	M.S sheet	
Qty:	20.0	Rft	@ Rs.	586.60	P. Rft	Rs.	11732 00
) M.S flange o	of different d	ia made	out of M	S sheet of vario	ous thickness i	/c cutting	
Qty:	40.0	Nos	@ Rs.	596.75	Each	Rs.	23870.00
) Jointing C.I/I	M.S flanged	pipe &	special fla	anged and inside	e trenches i/c	supplying	
Qty:	15.00	Joints	@ Rs.	513.00	P. Joints	Rs.	7695.00
					T	otal Rs.	1000169.00
TER	RMS AND CO.	NDITION	VS.				
1 Δny	errer or om	mission ir	descriptio	on of items Quan	tity and unite v	vill be gov	erned by releve

- Any errer or ommission in description of items Quantity and units will be governed by relevent schedule of rates and relevents rate anlysises.
- The decision of the Administrator MC Badin will be final and binding on all the parties in any shape.
- 3 No premuim allow on be non schedule items.
- 4 No seprate carriage will be paid.

Municipal Engliseor) Municipal Committee Badin

Sub: Engineer Municipal Committee Badin

## OFFICE OF THE MUNICIPAL COMMITTEE BADIN.

### TENDER FORM.

1).	Name of work:-						
2).	Estimated Cost Rs.						
3).	Period of completion						
4).	Date of opening of Tender_						
5).	Tender given to contractor_						
on production of C.D No. and dated							
Amoui	nting for Rupees						
Munio		Chief Municipal Officer  Municipal Committee Badin  the work for the above said scheme with rate given in the	n.				
schedu	le B. The schedule of the rat	e and estimate of the work seen separately.					
Percen	tage	Below/Above					
In word	ds		_				
		(Signature of the Contractor)					

#### ORDER OF THE ADMINISTRATOR.

The tender is hereby accepted/rejected on behalf of the Municipal Committee work order would be issued in case of acceptance after execution of the AGREEMENT with the contractor under work Rules.

Administrator Municipal Committee Badin.